Composite Usage Analysis 

Suppose you have a file with schemas given by:

SALSEMAN( SLS#, Name)

CUSTOMER( C#, Name, SLS#)

ORDER ( O#, Date, C#)

ORDER-LINE ( O#, PR#, QuantityOrdered, Price)

PRODUCT( PR#, Description, PremiumCategory)

______________________________________________________________________  

The conceptual model for these files is below.  Numbers in parenthesis are number of records.





1.  PremiumCategory in table PRODUCT represents different categories of products.  Price in ORDER-LINE is the total price for the quantity of the item ordered.  Write SQL to list SALESMAN Name, PremiumCategory, and total Price of all of the products ordered in each PremiumCategory for which there are at least 10 order-lines recorded and Salesman Name is specified.

2.  Complete a logical access table for the query in Question 1.  Entries should be the number of records accessed to execute the query.   Follow the example.

EX:  List the Salesman Name and Customer Name for the customers of each salesman.

	
	Table:
	SALESMAN
	CUSTOMER
	ORDER
	ORDER-LINE
	PRODUCT

	
	Size:
	25
	100
	
	
	

	Query
	Attribute
	Name
	SLS#
	
	
	

	
	Index?
	N
	N
	
	
	

	Example
	
	25
	100*25=2500
	
	
	

	
	
	
	
	
	
	

	Q#1
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	


3.  How could you speed up the join of PRODUCT to ORDER-LINE for the query in Q1.  Be specific.

1.  PremiumCategory in table PRODUCT represents different categories of products.  Price in ORDER-LINE is the total price for the quantity of the item ordered.  Write SQL to list SALESMAN Name, PremiumCategory, and total Price of all of the products ordered in each PremiumCategory for which there are at least 10 order-lines recorded and Salesman Name is specified.

SELECT SALESMAN.Name, PRODUCT.PremiumCategory, SUM(ORDER-LINE.Price)

FROM SALESMAN, CUSTOMER, ORDER, ORDER-LINE, PRODUCT

WHERE SALESMAN.SLS# = CUSTOMER.SLS#


AND CUSTOMER.C# = ORDER.C#


AND ORDER.O# = ORDER-LINE.O#


AND ORDER-LINE.PR# = PRODUCT.PR#


AND SALESMAN.Name = ‘xx’

GROUP BY SALESMAN.NAME, PRODUCT.PREMIUMCATEGORY


HAVING COUNT(*) >= 10 ;

2.  Complete a logical access table for the query in Question 1.  Entries should be the number of records accessed to execute the query.   Follow the example.

EX:  List the Salesman Name and Customer Name for the customers of each salesman.

SELECT SALESMAN.Name, CUSTOMER.Name FROM CUSTOMER, SALESMAN


WHERE SALESMAN.SLS# = CUSTOMER.SLS#

	
	Table:
	SALESMAN
	CUSTOMER
	ORDER
	ORDER-LINE
	PRODUCT

	
	Size:
	25
	100
	1000
	20000
	200

	Query
	Attribute
	Name
	SLS#
	C#
	O#
	Pr#

	
	Index?
	N
	N
	N
	Y
	Y

	Example
	
	25
	100*25=2500
	
	
	

	
	
	
	
	
	
	

	Q#1
	
	12.5
	1*100
	1*4*1000
	1*4*10*20
	1*4*10*20*1

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	37.5
	2600
	4000
	800
	800


3.  How could you speed up the join of PRODUCT to ORDER-LINE for the query in Q1.  Be specific.

·  Denormalize;  move PremiumCategory and Description to ORDER-LINE 

· Hash ORDER-LINE on Pr#

SALESMAN


(25)





ORDER


(1000)





CUSTOMER


(100)





ORDER-LINE


(20,000)





PRODUCT


(200)








